TR AOR (SFEA)

ERE294 3A 1BIRE

B 4 T B B 4 5 3 it
HHZEHT 0 0 0 |= RKHET 6 5 11
KIFHET 152 159 311 [|#%HET 8 7 15
ESHET 4 0 4 |hEHT 2 5 7
=AHT 167 198 365 ||t LLHT 8 14 22
=aitta 63 104 167 |17 SHET 9 6 15
= T 2 2 4 ||FaRET 1 6 7
£ [EET 48 64 112 |jEHET 19 23 42
T FHET 0 2 2 (|15EHET 13 19 32
JKATET 13 29 42 || fERET 0 0 0
& BHET 7 8 15 |71 & HT 214 232 446
YR AET 0 0 0 |[FEEHT 0 1 1
4 / SERET 7 8 15 (& GHT 33 49 82
FF+EET 7 5 12 | SHT 80 77 157
M HRET 1 1 2 |;EHT 0 0 0
S ERET 3 13 16 |(—&HT 0 2 2
YA HT 2 3 5 | & FHT 35 32 67
T 9 0 9 |FZIRHET 114 200 314
AN=1E1) 6 32 38 |FG;HHAT 12 37 49
fBRHT 15 22 37
ARHT 5 6 11
E A<HET 0 1 1
R SR AR HT 2 6 8
STHT 11 13 24
EHT 4 8 12
e 14 14 28| & § 1,096 1,413 2,509




